

①

8:00 $a_n = \frac{1}{r}, \frac{1}{r^2}$ $a_n = (ar)^{n-1} = \frac{1}{r} \cdot r^{n-1} = r^{n-2}$

9:00 $a_1 = 0$ $r^2 = 256$
 $a_{10} = 0$ $\frac{r^0}{r^9} = r^9 = 14$ $\epsilon = a^2 = \frac{r^0}{r^2} = r^2$ $a_2 + 1 \rightarrow \epsilon \times n = 32 \times 2 = 64$
 $a_n = r^n \rightarrow n = 91$

10:00 $a_0 = 12$ $a_n = 44$ $a_{11} = 0$ $\frac{44}{12} = 11 \rightarrow r = 2$ $r^2 = 4$
 $a_{10} = 44 \times 4 = 176$

11:00 $a_0 = 2 \times 2 = 4$ $a_n = 4$ $a_1 \times a_0 = a_n = 4$

$r^2 = r^{a+b}$ $a+b=0$ $\frac{a+b}{r} = 0/r = 0$

12:00 $a_r = 1-m$ $1-m = m$
 $a_v = m$ $r^m = 1$ $m = \pm \frac{\sqrt{r}}{r}$
 $a_{11} = m+1$

13:00 $a_1 + a_2 = 12$ $a_1 + a_1 r^2 = 12 \rightarrow a_1(1+r^2) = 12 \rightarrow a_1 = \frac{12}{1+r^2}$
 $a_1 + a_2 = 12$ $a_1 r + a_1 r^2 = 12 \rightarrow \frac{12}{1+r^2} (r+r^2) = 12$

14:00 $12(r+r^2) = 12(1+r^2) \rightarrow r+r^2 = 1+r^2 \rightarrow r = 1$
 $1, 2, 4, 8, 16$ $r = 2$ $1, 2, 4, 8, 16$ $r = 2$ $1, 2, 4, 8, 16$

15:00 $a_1(1+r+r^2) = 12$ $a_1 r + r^2 = 12$ $a_1 r^2 = 12$ $a_1 = 12/r^2$

16:00 $\frac{r}{r} + \frac{r}{r} + \frac{r}{r} = 12$ $\frac{1}{r} + 1 + r = \frac{12}{r}$ $\frac{r^2+r+1}{r} = \frac{12}{r}$ $r^2+r+1 = 12$ $r^2+r-11 = 0$
 $r = \frac{-1 \pm \sqrt{1+44}}{2} = \frac{-1 \pm 7}{2} = 3$

17:00 $S_n = \frac{r^n - 1}{r - 1} = r^{n-1} - 1 = 890 \times 11$

18:00 $a_1 \times r^{1+2+3+4} = a_1 \times r^{10} = 10 \times 10 = 100$

19:00 $a_1 \times a_1 q \times a_1 q^2 \times a_1 q^3 \times \dots \times a_1 q^{n-1}$
 $a_1 (q-1) \times a_1 (q-1) \times a_1 (q-1) \times a_1 (q-1) \times \dots \times a_1 (q-1)$
 $a_1 (q-1)(q-1) \times a_1 (q-1)(q-1) \times a_1 (q-1)(q-1) \times \dots \times a_1 (q-1)(q-1)$

$$a_1 + a_2 = a_1 + a_2 = r a_1 + a_2$$

$$a_1 + a_2 = a_1 + a_2 = r a_1$$

$$S_1 = r(a_1 + a_2) = \frac{1}{r}(a_1 + a_2) = \frac{1}{r}(r a_1 + a_2)$$

$$S_2 = r(a_1 + a_2) + \frac{1}{r}(a_1 + a_2) = \frac{1}{r}(a_1 + a_2) + \frac{1}{r}(a_1 + a_2)$$

$$\rightarrow S_n = a + ar + ar^2 + \dots + ar^{n-1} \quad S_n r = ar + ar^2 + \dots + ar^n$$

$$S_n r - S_n = (ar + ar^2 + \dots + ar^n) - (a + ar + \dots + ar^{n-1})$$

$$S_n r - S_n = (ar + ar^2 + \dots + ar^n) - (a + ar + \dots + ar^{n-1})$$

$$S_n r - S_n = (ar + ar^2 + \dots + ar^n) - (a + ar + \dots + ar^{n-1})$$

$$S_n r - S_n = ar^n - a \quad S_n(r-1) = a(r^n - 1) \quad S_n = a \left(\frac{r^n - 1}{r-1} \right)$$